
Сложение и 
вычитание в 
пределах 10

Презентацию выполнила:
учителница начальных 

классов
МКОУ «Тогохская СОШ» 
Шамильского района РД
Ибрагимгаджиева Раисат 

Алиасхабовна 
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 Решение: 
Ответ: ? конфет.

Задачи
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5+4= 9     10-4= 6      10-2+0=8     7-3+5=9
2+8= 10    8 - 3=5      10-4+2=8     8-2+1=7  
0+8= 8      9 - 2=7       8 -5+6=9     10-0-4=6
6+3=  9     7 - 5=2       5 -3+4=6      9-3-4=2
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Я отлично работал, 
все понял, могу 

объяснить другим.

Я хорошо 
работал и все 

понял.

Мне нужна 
консультация.
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